INSTALLATION DIAGRAM MEADE LX SERIES MOUNT(r)

INSERT WITH 1/2" UNTHREADED HOLE

HEX NUT, 3/4"=10 LOW PROFILE SS
(MCMASTER(rg PART# 91851A650 ——=
OR EQUIVALENT)

ELAT WASH%Rj 3/4"#x 1-1/2" SS
MCMASTER(r) PART# 98125A446
OR EQUIVALENT) =

— or t

s 20 DEG

RUBBER FLAT WASHER, 3/4" x 1-1/2" ADJUSTIBILITY

(MCMASTER(r) PART# 90130A070 —
OR EQUIVALENT — OPTIONAL)

5/16" SLOT FOR MILBURN(r) AND
OTHER EQUATORIAL WEDGES
TAPPED HOLES FIT MOST EQUATORIAL
WEDGES ( INCLUDING MEADE(r) SUPERWEDGE)

/

TR T R
MCMA! r Al 130A
OR EQUIVALENT — OPTIONAL)

1-1/2" ALUM PIER PLATE

RECESSED SLOTS ALLOW FOR SINGLE PLATE

FLAT WASHER, 3/4" x 1-1/2" SS
(MCMASTER(r% PART# 98125A446
N

OR EQUIVALENT) =

1/2"=13 x 3" STAINLESS STEEL CENTER BOLT (VERIFY LENGTH BEFORE
/ USING FOR ALT—AZ MODE, INCLUDED FOR MEADE(r))

((

HEX NUT, 3/4"=10 LOW PROFILE SS
(MCMASTER(r) PART# 91851A650 ——= S
OR EQUIVALENT) —
N—" N—
T =
12" ANCHOR L BOLT, 3/4"=10, SS R’ =
(MCMASTER(r) PARTH 916154430 ———=— =
OR EQUIVALENT) = = ANCHOR BOLTS SPACED 120 DEG APART
— — THIS BOLT SHOULD FACE NORTH
— —
— - —
= I
N—
— .
= 4" RADIUS

APPROX” 4" MINIMUM
IN AKT-AZ MODE

TELESCOPE IS TO BE USED

/ 12" CONCRETE PIER

COPYRIGHT (C) 2013 DWH PRODUCTS & PIERPLATE.COM ALL RIGHTS RESERVED



ADDENDUM

MANY CUSTOMERS HAVE ASKED US TO ENLARGE THE SIZE OF THE MOUNTING SLOTS

OF OUR 12" PIER TOP PLATES TO MAKE UP FOR IMPERFECT BOLT AL IGNMENT. ALL

12" PLATES NOW HAVE WIDER MOUNTING SLOTS AND ALSO INCLUDE AN OPT IONAL
BRONZE SLEEVE BEARING THAT SLIDES OVER THE ANCHOR BOLT TO PROTECT THE PLATE
FROM THE ANCHOR BOLT THREADS. IF MORE LEEWAY IS NEEDED TO MOUNT THE PLATE,
THE BRONZE SLEEVE BEARING MAY BE OMITTED.

BRONZE SLEEVE BEARING
(INCLUDED IN NEW 12" PIER
TOP PLATES)

COPYRIGHT (C) 2009 DWH PRODUCTS & PIERPLATES.COM ALL RIGHTS RESERVED



